Sale No.	OWNER OR REPUTED OWNER		AMOUNT INCLAIMED	COUNTY MILL RATE	COUNTY % PRO RATA	TOWNSHIP OR BOROUGH	MILL DATE	% DDO DATA	School District	MILL RATE	% PRO RATA		COUNTY		TWP		SCHOOL		TOTAL
0167	WILLIAM EDWARD SMITH	Ċ	36,145.23	4.4393	0.216328559			0.02160703	UPPER ADAMS	15.6384	0.762064412	Ċ	7,819.25	Ċ	780.99	Ċ	27,544.99	Ċ	36,145.23
0107	SRI V GOVINDAVANANANDA	7	30,143.23	4.4333	0.210320333	IVILIVALLLIV	0.4454	0.02100703	OFFLIX ADAINS	13.0304	0.702004412	٧	7,013.23	7	700.55	٧	27,344.33	٧	30,143.23
	3366 CHILLUM RD #301																		
	MT RAINIER. MD 20712																		
0294	HARRY O & MARGARET G AMOS	Ś	1,190.64	4.4393	0.242985692	CARROLL VALLEY	2.7000	0.14778487	FAIRFIELD AREA	11.1305	0.609229439	Ś	289.31	Ś	175.96	Ś	725.37	Ś	1,190.64
	8419 CROWLEY PL ALEXANDRIA,											7		Ť		т			
	VA 22308																		
0299	W GLENN & MARY E SPEICHER C/O	\$	3,839.91	4.4393	0.242985692	CARROLL VALLEY	2.7000	0.14778487	FAIRFIELD AREA	11.1305	0.609229439	\$	933.04	\$	567.48	\$	2,339.39	\$	3,839.91
	W GLENN SPEICHER JR 3787 SELLS																		
	MILL RD TANEYTOWN, MD 21787																		
303	ANN ST DENIS C/O	\$	1,318.26	4.4393	0.242985692	CARROLL VALLEY	2.7000	0.14778487	FAIRFIELD AREA	11.1305	0.609229439	\$	320.32	\$	194.82	\$	803.12	\$	1,318.26
	MARTIN ST DENIS 724 1/4 S																		
	MANSFIELD LOS ANGELES,																		
240	CA 90036	_	- C 40 CO	4 4000	0.040005500		2 7222	0.4.4770.407		44 4005	0.500000400	_	4 070 60	_	000.64		2 425 47		5.640.60
310	OSCAR V & CONCEPCION	\$	5,640.68	4.4393	0.242985692	CARROLL VALLEY	2.7000	0.14778487	FAIRFIELD AREA	11.1305	0.609229439	\$	1,370.60	\$	833.61	\$	3,436.47	\$	5,640.68
	G FERNANDEZ 3523 MOONEY AVE CINCINNATI, OH 45208													_					
	CINCINNATI, OF 45208																		
	2022 UPSET SALE	\$	48,134.72									\$ 1	10,732.52	\$	2,552.86	\$	34,849.34	\$	48,134.72

		AMOUNT	COUNTY	COUNTY %	TOWNSHIP				MILL					
Sale No.	OWNER OR REPUTED OWNER	UNCLAIMED	MILL RATE	PRO RATA	OR BOROUGH	MILL RATE	% PRO RATA	School District	RATE	% PRO RATA	COUNTY	TWP	SCHOOL	TOTAL
2-S-444	JONATHAN BEHNKE 30 N	\$ 1,922.96	4.4393	0.242985692	CARROLL VALLEY	2.7000	0.14778487	FAIRFIELD	11.1305	0.609229439	\$ 467.25	\$ 284.18	\$ 1,171.52	\$ 1,922.96
	GOULD ST SHERIDAN, WY													
	82801													
21-S-442	NICOLE MARIE STAUB MYERS AKA	\$ 314.45	4.4393	0.242985692	CARROLL VALLEY	2.7000	0.14778487	FAIRFIELD	11.1305	0.609229439	\$ 76.41	\$ 46.47	\$ 191.57	\$ 314.45
	NICOLE RINEHART 2258													
	MYERS RD SPRING													
	GROVE, PA 17362													
	2022 JUDICIAL SALE	\$ 2,237.41									\$ 543.66	\$ 330.66	\$ 1,363.10	\$ 2,237.41

Sale No.	OWNER OR REPUTED OWNER	AMOUNT UNCLAIME		COUNTY % TOWNSHI		MILL RATE % PRO RATA		School District	MILL RATE	% PRO RATA	COUNTY	TWP	SCHOOL	TOTAL
0070	BRYAN C & KIMBERLY A	\$ 8,361	56 4.4393	0.269463295	FRANKLIN	0.7764	0.04712709	GETTYSBURG	11.2589	0.683409612	\$ 2,253.13	\$ 394.06	\$ 5,714.37	\$ 8,361.56
	CLEVENGER C/O DREW													
	CLEVENGER 240 OAK DR													
	ORRTANNA, PA 17353													
0251	NANCY C BRENT C/O	\$ 3	35 4.4393	0.23720545	CARROLL VALLEY	2.7000	0.1442693	FAIRFIELD AREA	11.5757	0.618525247	\$ 0.79	\$ 0.48	\$ 2.07	\$ 3.35
	DAVID JAMES 3400													
	MEMORIAL ST ALEXANDRIA, VA													
	22306													
0255	MICHAEL W SMITH 17207	\$ 1,732	44 4.4393	0.23720545	CARROLL VALLEY	2.7000	0.1442693	FAIRFIELD AREA	11.5757	0.618525247	\$ 410.94	\$ 249.94	\$ 1,071.56	\$ 1,732.44
	MOUNTAIN VIEW RD													
	EMMITSBURG, MD 21727													
	2023 UPSET SALE	\$ 10,097.	35								\$ 2,664.87	\$ 644.48	\$ 6,788.00	\$ 10,097.35

		Α	MOUNT	COUNTY	COUNTY %	TOWNSHIP OR		% PRO			% PRO				
Sale No.	NER OR REPUTED OW	UN	ICLAIMED	MILL RATE	PRO RATA	BOROUGH	MILL RATE	RATA	School District	MILL RATE	RATA	COUNTY	TWP	SCHOOL	TOTAL
				4.4393	0.1839255	NEW OXFORD	2.9000	0.1201505	CONEWAGO VALLEY	16.7971	0.695924	\$ -	\$ -	\$ -	\$ -
]														
0239	CAROL A MYERS 6101	\$	1,707.25	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 389.96	\$ 263.53	\$ 1,053.75	\$ 1,707.25
	LOMBARD ST, CHEVERLY, MD 20785														
	CHEVERLY, IVID 20/85														
0240	RAYMOND E GEBHART	\$	5,031.43	4.4393	0 229/166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 1,149.26	\$ 776.65	\$ 3,105.52	\$ 5,031.43
0240	447 WAYNESBORO	ې	3,031.43	4.4333	0.2204100	CARROLL VALLET	3.0000	0.1343333	FAIRFIELD AREA	11.3330	0.0172233	\$ 1,145.20	\$ 770.03	3 3,103.32	\$ 3,031.43
	PIKE, FAIRFIELD, PA														
	17320														
0251	BULL INVESTMENTS	\$	2,056.08	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 469.64	\$ 317.38	\$ 1,269.06	\$ 2,056.08
	LLC, 18418 BULL RUN		•												,
	DR, HAGERSTOWN, MD														
	21740														
0252	ROBERT T PRITCHARD	\$	3,036.26	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 693.53	\$ 468.68	\$ 1,874.05	\$ 3,036.26
	JR & KATHLEEN MARIE														
	RAMEY, 5455 S														
	SUNCOAST BLVD PMB														4
0259	FESSENDEN FAMILY	\$	3,757.01	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 858.16	\$ 579.93	\$ 2,318.91	\$ 3,757.01
	REV TRUST, C/O ERIC FESSENDEN, 19824														
	WESTERLY AVE,														
0271	RAMON A GOMEZ,	\$	4,430.34	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 1,011.96	\$ 683.87	\$ 2,734.51	\$ 4,430.34
0271	19513 TAVERNEY DR,	٠	4,430.34	4.4393	0.2284100	CARROLL VALLET	3.0000	0.1343333	FAIRFIELD AREA	11.9936	0.0172233	Ş 1,011.90	ÿ 065.67	у 2,734.JI	\$ 4,430.34
	GAITHERSBURG, MD														
	20877														
0272	RAMON A GOMEZ,	\$	3,453.33	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 788.80	\$ 533.06	\$ 2,131.48	\$ 3,453.33
	19513 TAVERNEY DR,														
	GAITHERSBURG, MD														
	20877														
0275	RAMON A GOMEZ &	\$	5,551.15	4.4393	0.2284166	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD AREA	11.9958	0.6172235	\$ 1,267.97	\$ 856.87	\$ 3,426.30	\$ 5,551.15
	ANTHONY ARIEL														
	CHAVEZ, 19513														
	TAVERNEY DR,		20.022.25									A C C22 22	d 4.70.55	64761255	<i>\$</i> 20.000.00
	2024 UPSET SALE	\$	29,022.85									\$ 6,629.30	\$ 4,479.96	\$ 17,913.58	\$ 29,022.85

Sale No.	OWNER OR REPUTED OWNER	MOUNT CLAIMED	COUNTY MILL RATE	COUNTY % PRO RATA	TOWNSHIP OR BOROUGH	MILL RATE	% PRO RATA	School District	MILL RATE	% PRO RATA	cc	OUNTY	TWP	SCHOOL	TOTAL
2024-S-467	STEVEN KRENSKY 11	\$ 804.63	4.4393	0.228416628	CARROLL VALLEY	3.0000	0.1543599	FAIRFIELD	11.9958	0.617223477	\$	183.79	\$ 124.20	\$ 496.64	\$ 804.63
	PASTURE BROOK CT ROCKVILLE,														
	MD 20854														
	2024 JUDICIAL SALE	\$ 804.63							_		\$	183.79	\$ 124.20	\$ 496.64	\$ 804.63